What you will learn about:
Solving Systems of Linear Equations by Substitution

Solve a system of equations by substitution,

Solving System of Equations by

s 4 Step 1. Solve ona of the eguations for either variable
Substitution f .

Step 2. Substifuie the expression from Step 1 nio the other eguation.

Step 3. Solve the resulting squation,

Step 4. Substitute the solution in Step 3 into one of the original equations 1o find the other variable
Step 5. Write the solution as an ordered pair,

Step 6. Check that the ordered pair is a solution 1o both anginal equations.

x—2y=6
Setur. -Fcuﬂ AR TR ko’tt-n etbc.‘!’c‘-u\

Solve the system by Substitution. {

X=4

Solve the system by Substitution. {
=Ty -2y = -1

*77-lqy~27=*f5

stitution. [
3y-8(-3 +54)=24

3% u—Yox=2Y
~YVIx $24=24

~31X=z0
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H;J Solve the system by Substituti {_Bx-‘BQ
olve the system Dy substitution.

— =Sx+y=19=%v={4+
-3y~ 8(1948x) =20 ¥ R4 :52‘>

152
lf jl?t'lz.- "BY"‘IS:."'D!PX:}D y:[ﬁ}s‘{‘_{_ﬁ
I 2 -lUyx~-154=20 19-20
4%y = 172
)',-;.-q —2x+6y:5

ﬁ Solve the system by Substitution. {_7
—1(-343y) +iy=-S°
RI-ZIY Fby =-S5
al— ]'by =-S5
—_ H-,\/ = =20
=l =7 = =7-
Solve the system bYSubstitution. {ix_+2$ :Z’ ? Y 1-2x
-2(7-%)=¢
X ) Yﬂ—'lmj
X-14Yx=6 _—
S¥ “l4=¢ | (q.}‘h
gx: 0 \!-
X=Y4
Solve the system by Substitution. {_2 %=

“2ax = (Cx-1)="1 y= (.qu)r”
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—AY~GxHI=-T &y uy
- 8¥ :—'{f ) -q'— Ll
_ 158 - 12
X = 3 -‘j:l | = 4" %l
Solve the system by Substitution. {5};:_ 4y = —3
Sx-Y->x+s) =3 \/-_--5C,t)+5'
[7x-20=-3 —
17x= 17 0%
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Solve the system by Substitution. {4;:}: 36 =18
Uyt - L-D) =18
Ux+6=18 (52

by = 10
X =5

Solve the system by Substitution [2): Ty
"x—2y=6 )C:(,-}Z.)/
2(0i2y) +y=T YEYALID
Il"'qy;Y:_} X=4

12 +5y=T
+;‘f/=-5’ (47

y=-|

Sol h by Substituti = el
olve the system by Substitution. e e
y==2x+5
Solve the system by Substitution. - lx
2
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